THREERRE THRERIERRE KEH R :1/2500

— e EEER eI
2 N q 7 BEAEES  [132205A661105071
= i = —
- 5 <7w &4 BRD

5 D W . FT7EHh XET = LT
ﬂ L . .>:<

b

o Lot

: B D]ff-“)ffj’;‘wfﬁj’}['ﬁ/"ﬁ

DL R )

( f: [ i(l'fl‘\f "\\.".J\\ f

D] o
f'fﬂ}';‘t—;\: S
) oA S

o

Ly
=

f—

; N\ 223 A
> ah L S S N
s T G LA
iy jull .
y o e IALIEC e o WS
L e AR
] ‘/'t/"ln{:]" R 1
J-{TL\} )\u_,-\l‘ ;INL-,-' i i > a
# (KT P B
r— ALV / ‘
4 2 : Hof
”, ‘-\{' 'r.( 4 .I‘ 1
-3 > 3 2 e o
3 s - s o
3 P 5 il

8
A&
@Q

X 5 & A
[ ] twssenxs
- IBSERIERRS (BPRRSES) —
BB LB H0100kN/ mE B % B R i
HHEIOImERZ SR
[ ] zhusoxs

= 2140 D

2
%%f\

B R R I (FFRS
TRFEDNOREEDRT

[TREDNDORES—ERISHE

s
=
—

=
AN
R
ok

TEE

A

e
D
N
B

B C 0 50 100 m

1/ 2 B iR e



TEFOAODKESS—E

(BEZEE] BARZRDIEE |(AlEfHhORE
1. T_EEO)%‘WE'**??Q”&Z\”E%%':M'Zé’\ HEBAEERE  [132205A661105071
j:ld)lZﬁj\i%EEG)Eﬁ',Hﬁ éhf-lziﬁﬁo)ﬂikﬂ_%mbfb %)o . yr— =
(A) BBEII= LB 7Y 100kN/ % 2% 2 K DIEEND 1 DB AEKN/m) (E) #HEZAIMEIEZ 2RO HEHED H DBEAB®KN/nf) 2 THXERARUZEBNICSHIREEHT S ik Bl
< mzitax ] HERANIE m ' =] mZ A =l HRANIE m & 3 3 - —L Lg‘ Han g — —
(B) (WL H BB AT HEADLEEDHSm) | (P ENLHEEN RS 558D LEE DB %iwo’ﬁtfégfﬁi‘ﬂﬁ%%éﬂﬁ’%ﬁ‘fr AR 7E RE™ = WLET
(C) BB L5 A HM00kN/ M LT DR B OB BID 5 DB ABEKN/m) (G) HFEBA ML T DR i DHEFED 1 DB A EKN,/ ) EMBEEIHEEHRRLBEBHRIRHALR
D) C)ALHEEYIERTIBENIEZENES(m) H) QD LZBREYIIERTIBEDLRENES(M) DRFGFAENCHEET H_ENTES,
HETFTRLYFHOLEZEDADKES SIESHA DL EZEDHDAEE
RHBES % =
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(1) 166.1 1.0 99.7 1.0 21.2 4.6 15.2 3.0 166.1 1.0 99.8 1.0 23.0 4.6 14.7 29
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